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[image: Векторы, пожалуйста помогите решить с объяснением А. Вычислите сумму трех - 1]
ОА(√3; 1), ОВ(-1,5√2; 1,5√2), ОС(-0,75; -0,75√3).

x(С1) = √3 -1,5√2 - 0,75 ≈ -1,13927.
y(C1) = 1 + 1,5√2 -0,75√3 ≈ 1,822282.
Длина суммарного вектора равна:
[bookmark: _GoBack]OC1 = √((-1,13927)² + 1,822282²) = 
= √4,618648 = 2,149104.
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Mpsamas
® f: -2.12x - 2.12y = -5.8
® g: -1.5x + 2.6y = 8.69
® |:-3.12x - 0.39y = 2.85
® m: 1.3x - 0.75y = -2.85
Touka
® A=(1.73,1)
® B=(-2.12,2.12)

B', = (2.6, 1.5)
B, =(3,0)

® C = (-0.75, -1.3)

® C =(-1.14,1.82)

® D =(-0.39, 3.12)
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